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1. The asymptotes of the graph of the parametric equations X —l‘ y——r— are
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(A) ,\':0_ )':0
. B) x=0only { x=-1,y=0
Q D) x=-1 Only (E) x=0,y=1 @ g

The area of the closed region bounded by the polar graph of 7= J3+cosb is given by the integral
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Which of the following integrals gives the length of the graph of y=tanx between x=a and

X=b,where O<a<h<Xo 2 2

2 © ja 1+sec” xax
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E (A | Vxt+tantxar ®) | tan” x dx.
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B) _[a yx+tanxdc @ J 1+sect xdx
4, Thelengih of the curve y=Insecx from x=0tox =5, where 0<5 <?, may be expressed by

which of the following integrals? © J ? (secxtan x) dx )
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£ x=r-Tand y=2¢, then 2 “)
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The area of the region enclosed by the polar curve 7 =1-cos8 15
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7 A particle moves in the xy-plane so thatat any time ¢ its coordinates are:x=1%—1iand y=£'— 28
" At =L its acceleration vector is: '
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The area of the region enclosed by the polar curve r=sin(20) for 00X~ is
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If x=£ -fand y=\f3t)+1,;then% atr=1Lis
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Which of the following re: '
- ollowing Tepresents the graph of the polar curve 7 < 25ec?
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12, The length of the curve defermined by the equations x=1> andy =1 fromr=0tot=41is
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D (B) 2[: £ +1dt 3] 2nj,:~j4z2+1dt
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Consider the curve in the xy-plane represented by x=¢ and y= te™ for t>0. The slope of the
line tangent to the curve at the point where x =3 is

(A) 20.086 B 0342 (€) —0.005 0011 (E) —0033

14, Ifaparticle moves in the xy-plane so thatat time 7 > 0 its position vector is (11:(3.24;‘).{),212 ) . then
at time £=2. its velocity vector is
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15. Ifx=¢® and y=sin(21). th %@
(C) Siﬂ(?.t) D) cos("t) (E) 605(20

— . A
E @) defcos(2)  (B) — SO0 2 ==
16.

The length of the path described by the parametric equations x = cos_, t and y= s_i;i t, for

T oo
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= 5
(A) [ 2 V3cos®1+3sin’ t dt o )2 V9cos' sin?#+0sin’t cos’ ¢ dt
. . =
® [2 V-3cos’t sint+3sin’t cost df (E) _[02 cos® t+sin® it
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